)—J BEC SRR FER R E AR

[#kz2-3]

X F—L SRkH—F
. A=k =
AT ATJOvY BER = A
i | =
o LYLF7—T)L— | AC.GROUSE IRbY—F H—HEWSC |[Yrrbu—T—Ximsc| BAARENRE dtiFete EREBX x
[=4ivd =1
R|E
O O O o O @) A
16 [LIL7—T — 16 | 14
4 - 3 - 0|3 - 2|0 - 2|7 - 2|7 - 1|2 - 2
® O [ ® O O o
6{4iL | AC.GROUSE 9 | 1
3 - 4 - 2|1 - 4|2 - 48 - 1|2 - o1 - 4
® ® O A @) A A
5461 | =IXk—5 9| 3
o - 3|2 - 3 2 - 1|0 - o|6 - o1 - 1|3 - 3
® O ® ® @) A O
AL | h—SAEmSC 10| 5
2 - 3|4 - 1 - 2 0 - 4|17 - o1 - 1]l2 - 1
O O A @) @) A ®
3fiL |Hr)—7—Xsc 14 | 11
2 - 0|4 - 2 - 0|4 - 0 6 - o|1 - 10 - 3
® ® ® ® ® ® ®
8{I | BAfEIH 0 |-38
2 - 711 - 8 - 6|0 - 7]0 - 6 0o - 1|0 - 6
® ® A A A @) [
741 dtiBetc 6 | -8
1 - 710 - 2 - 1|1 - 1|1t - 111 - 0 1T - 2
A @) A o O O O
261 | AREBEX 14 12
2 - 2|4 - 1 - 31t - 2|3 - o6 - 0|2 - 1

XBRICIEXITOVIRDRFIVTARAVMERAMLTET




